WA IS TTERy

-~
r

f"/ }
o~
v /

s

a1 =a, ag = b, 3ani2 — Hany1 + 2an:O (n21) TERINEDG {a,} B"H 5,
(1) —f&H a, Z, a, b, n DX TERY,

2) Y an=9,%2&L5Ca, bEEDE,

n=1
) \ LI
[‘ EF“L\’ %-} ﬁ.‘27 « = -
) A’f& IZX . -—7) _;
L4250 b ke
2
(A=) (31-2) =p - =1, 3

b 1
Qa2 '“"—;;(:O(Mf‘; - ’\‘;';)‘QM =0 t¥Y

bmt2 = Qmvt = }l"(&mﬂ —Qn) £ X FT 23

\ 2. (g1
Shw jg?;a“? Om+ — 0w 0¥ ?;7]15 Ro-Q, = b-a ‘o ket 3 250
$rutazeet %7

Omst —0na= (b-0 (5

1:t, T o 3 =)
Dm = Q;"’Z (b2 (’3’)
=t
2 -\
L -(3)
- O+ Uo—-ox)"/g"
{— %
= A f 5(5-&)51-(—;’)“(1 TH3eg
O = 3b=28 = 3(b=0r) (f)'"“ (2 ac=a)
N - 2N
Cl 3 am: (3b-20)m — 3 (L«ox){,l_(_i)_,((
n=| . !__z__

3
= Gsb-2adm =4 (b-a) [ 1= (H)*]
M=% 12 LItedl: 304 50=41z1F 3b-20=p T {;\ﬁfob’qmz’dgkg
b—o=-1 TH3. 1 #EE  http://www.mathtext.info/

{?L—za—_u

b -0~ ‘2;3‘7(&‘. 0-=3 L:_Z?u———

—




